£IEERP EAFLE M ERF Y IRPEL 07 & H A ELE AT A R R
FAp- [A228=2]
XA K R o AR~ B AR N HR e B
E A ®'f$ﬁﬁﬁﬁﬁiﬁ"?§$4vwﬁ- Zuj(A A-B B)EF- Ko A »Fidawd B8 £ &5
B sg e L340 -
®ﬂ\€é‘«%ﬁﬁﬁfg’f# 0{;\‘,45\2/‘,\,“1% ) e S )_”:—50
QAFEL 2 T F F HFERIL FENEGF 5:: , géck% ,QL,HF; 32 BRI
DEFRFBLHY > %39& ;2 “7}4!1?4.\*-'4 o
(B2 ]
LTS (PRpbl) © TR0 ey - (i W jJJ TF’ o PP RS R PR gy ?
OF pIFf ¥ ®gﬂ‘\%[ F;FF“ OHFF ¥
2% 7[]*&][545111,%1%14&3&#* ﬁ%ﬁ 132 TERL
O TFapFifE > 2R e PR ?’ﬁ'«@(i' 4

Q@ MFIs2= T » R ETNO ES
CRNIEIE [‘(”ﬂ“b Al = B [c[#b??q!ﬂ
@ r:FE”F Bt FF 1] — }_{‘Jmi‘ﬁgﬁl RUE

HZS5IRE 1 FVRERL
BIEE 1955 %?J Ip h’)%‘*iﬁ'-%;?gg,]
=] qﬁu ES NS ) ﬁ*&’?, ﬁfé ]EIJFJJ—%J

3?1?}?1/#[, Eijf rr WFJF&@ r EKFJFEL PR PRI ﬁgﬁ MR s RS - 7[jﬁ\f“l§:[ﬁ1
RRVETFRL
Of =5 5 AN 5 4525l > =g - —<<?ﬁ*1: gRES NV
®|f?f*“ﬂfﬂ“ ’?*":‘&ﬁ* i 7 A STV ] —%kaﬁﬂﬂww
QLA T3 - il Wlm 'E‘%'Wﬂ“ﬂ’*' FPAPFEIAA o« — AV (= [H1El)
O LB H » M= =R S WEIEIL“TW**?HH‘J‘ o—ﬂlfﬁ <*ﬁf<@%§f&%ﬂﬁué\mﬁ>
43?*%?&%%54 Al JIWVF Skeei & FRE GRS (B
@gr;gr%&' g ®$"ﬁ§§ il R ®f]§,:f§[ e @EH T
YRR o (P EE CAES S AR 2
®P{Iﬁﬁ I @Iy FE OB dr ng& pal
6|‘ﬁ%ﬁJ:J %[H”EE' . aiﬁ:ffﬁuq&l? ﬁirﬁmﬂmlﬁ’ FPONC AR R o SRS GO ) DAL
HE ifé%%ﬁ HZﬁWH ) TR ’%f@*ﬁ%ﬁ"ﬁ IR f/pw‘ﬂﬁmﬁﬂiﬂhﬁ?ﬁt
®Hg[ﬂ§%ﬂﬁi‘f*ﬁd fﬁ"“'p [T I —% IR (TRephyd™)
A IR - PR | ()
@Jgjc[:fiﬁlbf[ R R *jfﬁ«-—/ (BRI # )
@AY S+ 5 e S ()
7 Ff"ﬂ”‘w‘ﬁ FU PSEOPEY < S5 L o ELTSFE - i e IR (i) g TROER A
IR [i_
OF 1 3L, 9 i}ﬁ%[fﬂﬁlﬁf ‘E‘“JW
QY {1 rilﬁ* 1 Bdplplg=~> HiF e g L]* U
QT ?ﬁn\fiﬂf,[ FT @yp J}J FIJ%}EI Jﬁf\_wt Fiﬂf,[ FFJT F' |
Oft i > I EWT@ﬁ¢I%w@ R [RL A U S
8$H<%.mﬁ>ﬁ AR - R I I i AR L
P_:r?
o ;EJ rf'F"J }E__‘;;ggtr’mrl[’z‘/ @ s *E;EJ tpgjﬁijr FEIF’U #?mgz iz
® FFM }}fl %FU_ 2 Ay L RS ® Mg ?Eﬁ?ﬂw EJE&““& 25y 0 E VAR
9. (FD) <<;ﬁ*w>> - (74) <<ﬁ|a}H J F1) o~ (T (FohEE) - P) (TefEs ) ~ O%) &k > PO e
@F“ﬁ (A I L 2
s ety ®plrm Or$fIer|” @r$pIT O
ﬁ”ﬂ& ITﬂE‘EM% BfiE) ~ §1 7
@erﬁ E{:Em;{;*x 4% %,éj ®|’|prﬁ °+ﬁ;&ﬁ E[iﬁlﬁ J,
ORI~ Mtk ~ A7 @pr=F (b~ R F 2 HEAEIR
ILEAE (BERART) G0 TFRRIRE - T RPEE S FREIERE - T pelh - f'%%'l R || 00 OO0 - R
UK i RTR Vj"fi,i’ QT - 7O 2 ffiﬁﬂ S REEE > RO BB R e - T ER
oo Fjij[df @%L#ﬁ,ﬁf J:ﬁ‘[ ﬁﬁ& Flheefgli_
OATHM & 1= @AV L @ FiLE NELSk - R @ Ve 4T E

12-*?@#?@\ KB [H”U{%sﬁp b 'Y%f&ﬂ“ il'ﬁj\ = PR LA IR EE P SR ([ H R 2 Y
FfEﬁ'fQ_# E B NS _'J M TR %_“;"‘;‘*7 Y}]LIIJ V72
®* PR AR l]/\%l%j\ U B "E@Wﬁk
QL H[#'ﬁzﬁ\ﬁ%;@ﬁ Jiﬁv @'3%] I|:1 [ES5) ’IHJ fH‘ﬂ' Tl
FIBLE P YR > 757 (IR > Bkl [ R

I3~ TIRERE TR N e |ﬂ1|}h} / H{ﬁ;gc - pu‘ﬁ“ IORSRL /R0 R RS =/ #,1&’4] 9 Ty
g /W’ﬂF*TF‘W’ PR *Hﬁidwﬁ*ﬁﬁwﬁ% S
o o] ol
148 B (BPg) TSR BRI B P (R BRI (WEIpus) ¢EL7][
l:[JﬁJi[EiLFF gﬁ#ﬁﬁ -y '%‘EJ]?E‘?E_FE? %’kﬁj} ?
O Efizys 5. oy RS A EFREi
O - ST AR
O£ 35 I ri ﬂ*ﬂé’%‘ ROSBELF-70 [ IRIPIS (0 i -
OL L BRI E T J}Wﬂj\%ﬁﬁgﬁi vl Vilﬂﬂli
15N FIPp- A B %m iﬁﬂ' sAalSIE E?é‘fﬁ/‘d/@'
OFFNE / &%) 4@/£7LH[ 49'/[4
16 [lIEY It RE %ﬁ Jﬂ ?t%w A H g %ﬂﬁ%y
[y & TR *@’ﬁwg SR TSR YR Y
i T 4 e
D57 %#Zh ow)i @
17.7~7% ”&wr TP tl@jﬁﬁ[[ ISR
@it fy [ 5y | AR E FHJ 54»;@ [y i F
@ik "2 F’“?ffﬁ“ I TR TS T B
®%£W@TEQ@@WF@JJW“°WW%F%JTL
@ e }gﬁgyp@pﬂ&f' FREE T 1% }F,J?x NFFJ e
18.17 ”Qw' T MIEES ?’[Fﬁr‘%j s > B ﬁl[ fusE F'f&_
o= ﬁ (N T —g N\ | *J]&gt_kﬁ 73;@3@;@ TR AN
S A ST o ﬁ“ﬁw L U Fr%wgf
Sl o i S R T T
WL Tt < B S @ﬁ*4mfF¥ﬁJ$Fu o
=\

g J?f 3k

ﬁu[[

u[EIET[L I

/ E'Iﬁ_g‘ @F i
%J*E ?Iq‘ 1[[:[{[;1/4
A {

S

BT3P [ T SN S B T (RS 8 e 5
el g TR g RS R Sl S A R TR
®&%$”F‘J’LW#§ &

@i ST A T4 05
@L%ﬁﬁm Hesmar | pismay  pusns
OFy " B[]0 0 Pk + (3 AT R

ERLPEPTITS AT 5P SR
© "3 ‘”“EHJ fL EWH/

@ r}'gf_‘«.uﬁ E

N Iy %
i ﬁ@mlaﬁpufji f/p FFFE_, NE: f'[JJ -

20. JI//FLQWEEEJ*J 2 N L e e A Pguﬂ//Fk ?
@ YT Fe A fL;brE, I

@f@%@mjw RN

2L AR RER tiﬁ” =L SALLIEETUR
WA= = Hg o NHEES [FE; % TEl o ?ﬁlh‘fj‘g[i_
O "4, » o EaT T R £53 P TSRS T R
@I} & K+ B SHAEY I = e

®jl:~rr; P | Jﬂ et 71%, I F‘ P l%a l/qgu o
@%fj' Hio SR T T e TR 4\%5‘]‘ e
228 [l W A~ lﬁﬂﬁ”ﬁfli f/['ﬁ'WIFEJF' “”V [l* IFJT o ssﬂ]‘&ﬁﬂ%' I T T (BRI - BTSSRI -
[Ef'fﬂ”jfi_ PE R VIRl T fiLF;JFE o LT H'F”a:ﬂﬁf ’ l??ﬁi_l [ FR 7
O = (N TANE ﬁw‘lgww ]
@IER AT TEE A M LAEESERY TR
®+J%§@%¢u FFFI, EEE %LPT fr ]ﬁ:tﬁ—f:;;e:gz
OF: 9[?3*1@? j"z‘@ﬂﬁ‘ ’“Jiﬂi ERR Ry =R ]
231 /Uj’ A T I T e e = U= T U
F”??'UI%F” PPESETE ?&’E‘TUI%?’HHNI%VJN
FIApEpEs S 25 Vi, 2 L*WEJJ 2

i **%E L TR R & O g[[lﬁﬁ[ﬁ;ﬁla TEER
@[*TF foras o e p }{—J?p/ﬁ%ﬁ,ﬁuﬁﬁ]{ %% LA o s
24. |5 EL}»ﬁ'ﬂ]&lJL,FIf\_
®fﬁ'ﬂ/?ﬁ OFIVEF | BV OFFEME /It O/ i
25.% /W i [ IEI Fﬁ e it iﬁh TFIRL fJ Fﬂ;{ ?Z F
O Pz * s Y*Lff PUEB T [ S AV E A

@1 :]*FJ Jf‘.‘:E%T ESREN \:ﬁiﬂj , I&Flfjﬁiﬁgmf .
Ok Fﬁ”ﬂfﬁiliﬁipﬁﬁﬁ“ TEINA %E@Jlﬁi[ﬁ[_{ 12573
@Aty vy I I SHRAE T B VoA B - e

GEEITD



(3]
-~ R (i (- PO A R S Y F‘F’i)
26. Conservatives and need each other because it takes both affirmation and criticism for a country to
progress.
@ guardians @ liberals ® poverties @ shepherds
27. We haven’t decided on the of this trip yet. Some colleagues would like to travel to Ali Mountain, but
some preferred Taroko Gorge.
@ destination @ expedition ® hemisphere @ originality
28. The tainted milk powder scandal should result in more cross-strait communications so that a
established to ensure food safety.
@ fertility @ harassment

29. President-elect Barack Obama returned to Chicago after getting his first look at the Oval Office during a
meeting with President George W. Bush to discuss the of power.
@ transcript @ transport ® transfer

30. Property stocks were down especially after Goldman Sachs issued a outlook for the sector.
@ presumptuous @ perspective ® preponderant @ pessimistic

31. A business can its reputation when it maintains good public relations within the local community.

can be

® mechanism @ parallel

@ transplant

@ engross @ enhance ® enjoin @ engulf

32. One way to cheer us up is with a journal” in which we write down three to five things for which we are
thankful.
@ gratitude @ loyalty ® nursery @ sparrow

33. In Japan, chefs control the temperature of each type of fish they use. Remarkable attention to detail is

typical of Japanese restaurants at all price levels.

@ hospitably @ meticulously ® preliminarily @ redundantly
=~ YRR (ﬁ?ﬁ:_k I REF LTS Y F‘Fi')
34. , he would have been able to pass the exam.

@ Had he studied @ If he studied more

® Studying more @ If he were studying to a greater degree

35. We are very well aware of the many challenges that lie ahead. However, Taiwan’s economy and our
people are very hard hard-working.
@ are sound basical @ is basical sound

® is basically sound @ are basically sound

36. Scientists have said global climate takes many forms,
cyclones in others.
@ caused droughts in some areas
® causing droughts areas in some

while increasing flooding and the severity of

@ causing droughts in some areas
@ caused some areas in droughts

37. Examples of students whose clothing and general appearance do not correspond to school regulations but
do well academically can be found almost everywhere.
@ that ® they

38. The name of the new company was Apacewave, which
rising up with it.
@ mean

® who
to convey the idea of catching the wave and

® can

@ meaning ® was meant @ to mean

39. Britain, which is in a lending drought every bit as serious as that in the United States, is far less able to mount a
government rescue and may well come out

@ far bad @ far worse ® very much worse @ very bad

40. When a bacterium becomes too large, it splits in half and forms two new bacteria, its own cell wall and
protoplasm.
@ with each @ each with ® each has @ has each

= R (MR SR
As we celebrate Women and Children’s Day on 4 April, we mark the gains women in Taiwan have made and
recognize the hurdles that remain.

According to the Directorate-General of Budge, Accounting and Statistics, at the end of 2007 women made
up 40.4% of master’s degree students, an _41 of ten percentage points from ten years before. One in four of
doctoral candidates were women, up by 7.4 percentage points over the same _42 . It is no longer a _43 for
women to pursue postgraduate degrees.

In the work place, _44 , the picture is not so optimistic. Though women make up 43% of the workforce,
they account for only 17% of executive and management positions; _45 , one out of every six managers is a
woman. Also, the average salary of women is only 79.5% that of men.

41. @ average @ excess ® increase @ option

42. ® framework @ period ® requirement @ dynasty

43. ® warning @ prevention ® coverage @ rarity

44. © furthermore @ however ® moreover @ therefore

45. ® such as @ on top of that ® that is @ what is more
P4~ BEFNERE

One hundred years ago, the invention of the automobile was viewed as a great step forward. Today autos are not
always considered such wonderful machines. In fact, they are the cause of a number of social and environmental
problems worldwide. The most serious of these is air pollution. In fact, burning gasoline and diesel fuel in motor
vehicles releases many chemicals into the atmosphere, including large amounts of CO.. Higher levels of CO: in the
atmosphere have led to warmer weather and climate change around the world.

One way to limit the amount of CO: produced by cars and trucks is to encourage people to use motor vehicles
less. In many places now, that will mean making major changes in transportation systems. In most parts of the United
States, for example, the only way to get around is by car. It is often dangerous or impossible to travel on foot or by
bicycle, and there may be few or no buses or trains. In some U.S. cities, public transportation does exist, but few
people use it because it is often unattractive, inconvenient, and expensive.

The number of cars and trucks on the road can also be limited by charging drivers taxes and fees. For example,
some countries, including Norway, Sweden, and New Zealand, require diesel truck drivers to pay for traveling on the
roads. In a number of cities, including Singapore and some European cities, drivers of cars who wish to go downtown
must pay a fee. These fees keep people from driving unnecessarily, and the money they bring in can be used for public
transportation.

Pollution from motor vehicles can be further reduced by changing the engines of motor vehicles so they use
different fuels. There are several nonpolluting fuels already available. One is natural gas. Several large cities in the U.S.
are setting an example by replacing older buses and vans with vehicles that burn natural gas. Electricity is another
important source of energy that pollutes less. Electric vehicles are becoming more efficient as the technology
improves.

46. We can infer from this passage that cars using “clean” fuel
@ are not convenient @ release only CO:
® do not get very dirty @ do not release CO:

47. We can infer from this passage that most people in the United States
@ travel a lot @ like to walk and bicycle
® use cars a lot @ often take buses

48. Which of the following statements is true about drivers in Norway, Sweden, and New Zealand?
@ Diesel truck drivers have to pay for using the roads.
@ Bus drivers have to pay for using the roads.
® Dirivers of private cars have to pay for using the road.
@ Electric car drivers have to pay for using the road.

49. Several cities in the United States have begun buying buses that
@ have old engines @ run on electricity ® use natural gas

® burn diesel fuel

50. What is this passage mainly about?
@ Different kinds of transportation around the world. @ Ways to limit the CO2 from motor vehicles.
® A new kind of fuel for cars and trucks. @ The amount of CO2 produced by motor vehicles.
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